
 

 

 

1. Evaluate 𝐼 = ∫ (1 + √9 − 𝑥2)
0

−3
𝑑𝑥. 

 

 

 

 

 

 

 

2. If G(𝑥) = ∫ 𝑓(𝑧)𝑑𝑧
𝑥

1
,  and 𝑓(𝑥) = ∫ √3 + 𝑢2𝑥2

1
𝑑𝑢, find 

𝑑2

𝑑𝑥2
𝐺(𝑥)|𝑥=1. 

 

 

 

 

 

 

 

 

 

 

3. If a function 𝑓 𝑖𝑠 𝑐𝑜𝑛𝑡𝑖𝑛𝑢𝑜𝑢𝑠 𝑒𝑣𝑒𝑟𝑦𝑤ℎ𝑒𝑟𝑒, ∫ 𝑓(𝑧)𝑑𝑧 = 10
𝑏

𝜋
, and ∫ 𝑓(𝑢)𝑑𝑢 = 5

𝑎

𝜋
.     

Find ∫ 𝜋 𝑓(𝑠)𝑑𝑠
𝑏

𝑎
. 
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4. Express the following limit as a definite integral: 

lim
𝑛→∞

{∑ [(
𝜋

8𝑛
) (sec

𝑖𝜋

4𝑛
)

2

]𝑛
𝑖=1 }  on [0,

𝜋

4
], and then evaluate it. 

 

 

 

 

 

 

 

 

 

 

 

5. Evaluate the upper sum for 𝑓(𝑥) = 2 + sin 𝑥,    0 ≤ 𝑥 ≤ 𝜋/2 , with 3 subintervals. 

(show the graph) 


